
TGE-1 Transformations —  Translation,  Reflection  &  Rotation  ( Slides,  Flips  and  Turns)        TGE-1     

TRANSLATION:

E1 . Slide (t ranslate) each f igure according to the arrow s.           A
Out line the new  posit ion.

  B              C

        C

        C                  CN

BN

E2 . Find the vector (arrow ) of  t ranslat ion that  t akes f igure A  to A ’ ;  do the same, for B to B’    and  for  C t o C’  ,

B C’

A ’

     A    B’ C

REFLECTION:

E3 . Flip (ref lect ) each f igure over t he line l  D l

B

         A  C

E4 . Find a line of  ref lect ion of  t he plane t hat  w ould move f igure A  to A ’ ,   B to B’ ,   C to C’                   C’

    A    B      B’  C  

   

     A ’

E5 . Can you f ind a line of  ref lect ion that  w ould put  each f igure back on top of  it self ?  (If  so, how  many?)

A   B C  D E F G

  INFINITELY
         ONE         ONE      TW O               FOUR       TW O    NONE !!      M ANY



TGE-2 Transformations Continued                                                                                     TGE-2     

ROTATIONS:

E6 . Rotate each f igure about  t he point  O according to the given angle and direct ion.

    C      O C
         O C

@
       O  

      Sorry  this w asn’ t  
A .   90E (counterclockw ise) B. 180E C.  27 0E     supposed to be so

Jammed !

E7 .* Find the center of  rotat ion that  t akes f igure A  to A ’ .   W hat  is t he angle of  rotat ion?  9 0E
(Hint :   W hen the plane rotates, w hat  path do the point s follow ?)

       C

A ’           C

A The angle of  rotat ion SHOULD be 90E since the 
  Center of  rotat ion ü arrow  turned f rom point ing st raight  up to point ing lef t !

²Center of  rotat ion f or E8

E8 .* Find the center and angle of  rotat ion that  t akes f igure B to B’ .

The red arcs locate perpendicular bisectors of  segments
  joining corresponding point s(1& 1 , and 2& 2–  show n blue).
Those perpendicular bisectors meet  at  t he center of  rotat ion,

     E   because the point s are A LL rotat ing around ONE center.
B         E

The deep blue lines show  us the angle through w hich the point
  labelled “ 1 "  rotated.  It  measures close to 55E.

BN

E9 . Ident if y  t he t ype of  t ransformat ion that  t akes the dot t ed f igure to each of  t he result s,  A , B, C, D, E &  F .

A    Ref lect ion

B.  Ref lect ion C. Rotat ion D.  Translat ion

E.  Translat ion  F.*   Glide-ref lect ion

See Self -Test  answ ers f or sim ilar examples
w ith bet t er illust rat ed answ ers.


